2RXS J165136.8+673918

gamm*powl

TTTTT]

Hh&
Ll

1.00

930520 0218

I 1 1110 B 1 A O O N LI RR R
(@]
49
1™ =
_ Qo
] 4
~
7 >
o1))]
N [
()
- o
=
o
I
1 o
5l b e e e b
7 Y N ?
o o o o
L | L | L o | L o |

(A93 s zwd)/suojoyd

N

|
Energy/keV

0.10

T T T T
o o o o
=i -~ i -

(A s)/s3uno)

i o n
o o o
| + |
=1 [ =]
>~ © ©
® 3
P Y
| |
+ + +
~ 3
-l
s 8% 5 ¥ 3
I
™ n wn (o] %
e @ % mn -
< © fad | -
Il
Q
® I
S ]
3, I £
(7] § Il S
[ V. I o
wn = z — Z
TTT[TTT T TTTIT[TTTT]
a— m——
I S i
=B NN NRNNENENNN -
— o — [aV]
| |
srenpisey

1.00

0.10

X2req = 0.135

Energy/keV



